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QUESTION 1

Which IBM Watson Machine Learning deployment method offers the ultimate flexibility in deploying a machine learning
model? 

A. Watson Machine Learning Python client 

B. Watson Machine Learning FORTRAN client 

C. Watson Studio Project 

D. Watson Machine Learning REST API 

Correct Answer: D 

Reference: https://neptune.ai/blog/best-machine-learning-as-a-service-platforms-mlaas 

 

QUESTION 2

Which statement is true in the context of evaluating metrics for machine learning algorithms? 

A. A random classifier has AUC (the area under ROC curve) of 0.5 

B. Using only one evaluation metric is sufficient 

C. The F-score is always equal to precision 

D. Recall of 1 (100%) is always a good result 

Correct Answer: B 

 

QUESTION 3

What is meant by the curse of dimensionality? 

A. The number of available algorithms for a given task is high. 

B. The number of available data sources for a given task is high. 

C. The data sparsity becomes more severe as the number of features is increased. 

D. The data sparsity becomes more severe as the number of samples is increased. 

Correct Answer: B 

 

QUESTION 4

Which statement defines p-value? 
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A. It is the probability of accepting a null hypothesis when the hypothesis is proven true. 

B. It is the probability of rejecting a null hypothesis when the hypothesis is proven false. 

C. It is the probability of accepting a null hypothesis when the hypothesis is proven false. 

D. It is the probability of rejecting a null hypothesis when the hypothesis is proven true. 

Correct Answer: C 

Reference: https://courses.lumenlearning.com/wmopen-concepts-statistics/chapter/introduction-to- hypothesis-
testing-5-of-5/ 

 

QUESTION 5

What are two methods used to detect outliers in structured data? (Choose two.) 

A. multi-label classification 

B. isolation forest 

C. gradient descent 

D. one class Support Vector Machine (SVM) 

E. Word2Vec 

Correct Answer: BD 

Reference: https://www.researchgate.net/post/What-is-the-best-outliers-detection-algorithm-to-used-for- big-data 

C1000-059 PDF Dumps C1000-059 Practice Test C1000-059 Exam Questions

Powered by TCPDF (www.tcpdf.org)

C1000-059 PDF Dumps | C1000-059 Practice Test | C1000-059 Exam Questions                                3 / 3

https://www.leads4pass.com/c1000-059.html
https://www.leads4pass.com/c1000-059.html
https://www.leads4pass.com/c1000-059.html
http://www.tcpdf.org
https://www.leads4pass.com/c1000-059.html
https://www.leads4pass.com/c1000-059.html
https://www.leads4pass.com/c1000-059.html

